Part 3

Derivatives

Question 3.1. Find the derivative of the function.
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Question 3.2. Find the derivative of the function.
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Question 3.3. Find the derivative of the function.
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Question 3.4. Find the derivative of the function
h(z) = ztan(2vz) + 7
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Question 3.5. Find the derivative of the function.
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Question 3.6. Find the derivative of the function.
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Question 3.7. Find the derivative of the function.
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Question 3.8. Find the derivative of the function.
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Question 3.9. Find the derivative of the function.
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Question 3.10. Find the derivative of the function.
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Question 3.11. Find the derivative of the function.
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Question 3.12. Find the derivative of the function.
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Question 3.13. Find the derivative of the function.
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Question 3.14. Find the derivative of the functio
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Question 3.15. The following implicitly defines ¢ as a function of z.
Find dy/dz.
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Question 3.16. Theffollowing implicitly defines y as a function of z.
Find dy/dx.
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Question 3.17. The following implicitly defines y as a function of .
Find dy/dx.
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